Name:  _____________________________ Date:  ​​​​​​​​​​​​_________________ Period:  ​________

Genetics Worksheet

Trait of the Pea Plant

	                   Trait
	           Dominant Allele
	           Recessive Allele

	Seed Shape

	Round is Dominant “R”
	Wrinkled is Recessive “r”

	Stem Length

	Tall is Dominant “T”
	Short is Recessive “t”

	Pod Color
	Green is Dominant “G”
	Yellow is Recessive “g”

	Flower Position
	Axial is Dominant “A”
	Terminal is Recessive “a”

	Seed Color
	Yellow is Dominant “Y”
	Green is Recessive “y”

	Pod Shape
	Inflated is Dominant “I”
	Constricted is Recessive “i”


Write the GENOTYPE (the letters) for the 
   
   Write the PHENOTYPE (how it looks) for 

PHENOTYPE (how it looks) that is given:

            the GENOTYPE (the letters) that is given:
1.
homozygous round seeds
____RR_____

1.
Tt
____tall stem length____________
2.
heterozygous green pods
___________

2.
GG
____________________________
3.
homozygous green seeds
___________

3.
ii
____________________________
4.
homozygous terminal flowers
___________

4.
Yy
____________________________
5.
homozygous short stem
___________

5.
rr
____________________________
6.
homozygous constricted pods
___________

6.
Aa
____________________________
7.
heterozygous axial flowers
___________

7.
YY
____________________________
8.
heterozygous yellow seeds
___________

8.
aa
____________________________
9.
heterozygous tall stem

___________

9.
Rr
____________________________
10.
homozygous wrinkled seeds
___________

10.
TT
____________________________
Write all of the possible genotypes for the following phenotypes:
Free earlobes (E) is dominant to attached earlobes (e):
Write all the possible genotypes: ____________   ____________    _____________
Curly hair (H) is dominant to straight hair (h):
Write all the possible genotypes: ____________    ____________    ____________
Summarize: Fill in the blanks with the words below:
Homozygous dominant 

Heterozygous 

Homozygous Recessive 
One 

Two

There are always _____ possible genotypes that produce the dominant phenotype. To have the dominant phenotype, you can be either ___________________ ________________ or _____________________. There is only _____ possible genotype that produces the recessive phenotype. 
To have the recessive phenotype, you must be _________________________ ___________________. 
Practice Punnett Squares using Traits of Pea Plants

Use the table from the previous page to complete the questions below!

Using the Punnett Squares provided to answer the following questions about inherited traits!

1. Homozygous round seed x heterozygous round seed:

     % offspring homozygous dominant:_______                 1.
     % offspring heterozygous: _______________

     % offspring homozygous recessive: ________ 

2. Aa x Aa flower position:

    % offspring AA dominant:______
   2.

         


    % offspring Aa: _______________

    % offspring aa recessive: ________ 

3. ii  x  Ii pod shape: 

% offspring homozygous dominant:________

% offspring heterozygous: ________________             3.
% offspring homozygous recessive: _________ 

4. Heterozygous yellow x homozygous green seed color

% offspring YY:____________        4.
% offspring Yy: ___________

% offspring yy: ___________ 

5. Heterozygous tall x heterozygous tall:

% offspring homozygous dominant:______                          
% offspring heterozygous: ______________                  5. 
% offspring homozygous recessive: _______ 

6. Axial dominant x terminal recessive flower position:

%offspring homozygous dominant:________

% offspring heterozygous: _______________           6.
% offspring homozygous recessive: ________ 

% offspring axial position: ________________

% offspring terminal position: ____________








































